Best model for HELP J105643.973+573518.418 at z = 0.585 x?=2.36

OPTx2=1.25 IRy?=7.95 threshold (OPT IR)=12.68 [um]

> | Stellar attenuated
10 1 [ Stellar unattenuated
] —— Dust emission
1 —— AGN emission
101 E = Model spectrum
E ® Model fluxes
i M oObserved fluxes
10 4
P ]
c ]
— 10—1 4
X E
2 ]
[N 2 )
107 Sty
1073 3
3074 -
= ] ==f=(Obs-Mod)/Obs
5 ]
S
n
] 0 e —— oy 5 N e —— —— e ] ————————————————————
b ]
o ]
2 ]
5 ]
© -1 T T 7 — Ty T
g:) 100 10! 102 103 104

Observed wavelength [um]

g

CiGAL



